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Solving Systems by Graphing
6-1

Practice
Form G
Solve each system by graphing. Check your solution.
	1.
y = (x+ 3
y = 4x ( 2
	2.
y = (1/2)x ( 2
y = (3x + 5
	3.
y = (3/2)x + 6
x + y = 1

	4.
y = (5x
y = x ( 6
	5.
(3x + y = 5
y = 7
	6.
y = (4x ( 6
y = x + 9

	7.
y = (3/4)x ( 5 
3x ( 4y = 20
	8.
y = (4/3)x ( 3
y = ((2/3)x + 3
	9.
y = ((2/5)x ( 2
y = (x ( 5


10. Reasoning Can there be more than one point of intersection between the 
graphs of two linear equations? Why or why not?
11. Reasoning If the graphs of the equations in a system of linear equations coincide with each other, what does that tell you about the solution of the system? Explain.
12. Writing Explain the method used to graph a line using the slope and 
y-intercept.
13. Reasoning If the ordered pair (3, ( 2) satisfies one of the two linear 
equations in a system, how can you tell whether the point satisfies the other 
equation of the system? Explain.
14. Writing If the graphs of two lines in a system do not intersect at any point, 
what can you conclude about the solution of the system? Why? Explain.
15. Reasoning Without graphing, decide whether the following system of linear equations has one solution, infinitely many solutions or no solution. Explain.
	y = 3x ( 5

	6x = 2y + 10


16. Five years from now, a father’s age will be three times his son’s age, and 5 
years ago, he was seven times as old as his son was. What are their present 
ages?
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Solving Systems by Graphing
6-1

Practice (continued)
Form G
17. The denominator of a fraction is greater than its numerator by 9. If 7 is subtracted from both its numerator and denominator, the new fraction equals 
[image: image1.wmf]. What is the original fraction?
18. The sum of the distances two hikers walked is 53 mi, and the difference is 25 mi. What are the distances?
19. The result of dividing a two-digit number by the number with its digits reversed is 
[image: image2.wmf] If the sum of the digits is 12, what is the number?
Solve each system by graphing. Tell whether the system has one solution, infinitely many solutions, or no solution.
	20.
y = 3x + 5
x + y = (3
	21.
y = 2x + 1
y = (4x + 7
	22.
2x + y = 8
y = (1/2)x + 1/2

	23.
y = (2x + 1
y = (-2/3)x + 5
	24.
y = (3x + 2
3x + y = 1
	25.
y = 5x (15
y = (3/4)x + 2

	26.
y = (1/2)x ( 6
y = ((1/4)x
	27.
y = 6x + 4
(2 + y = 6x
	28.
y = (x ( 7
y = 2x + 5

	29.
18x ( 3y = 21
(y = (6x + 7
	30.
y = 5x (6
x + y = (6
	31.
y = ((3/2)x ( 3
y =(1/4)x + 4


32. The measure of one of the angles of a triangle is 35. The sum of the measures of the other two angles is 145 and the difference between their measures is 15. What are the measures of the unknown angles?
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